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QUIZ NO. 6

NAME__________________________________________________Score_______/10

A PMOS transistor amplifier
with two outputs  is shown.
Assume the parameters of the
transistor are KP = 1mA/V2,
VTP= -1V, and λ = 0. (a.)
Find an algebraic expression
for the small signal input
resistance, Rin, the output
resistances, Rout1 and Rout2,
the voltage gains, vout1/vin,
and, vout2/vin.  (c.)
Numerically evaluate the
small signal input resistance, Rin,  the output resistances, Rout1 and Rout2, the voltage
gains, vout1/vin, and, vout2/vin.
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